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Scholarship Test
Meghalaya (Series-A)

28, i at pi
3:3.:1%]:; Il;:t EIVEs a spectrum similar to (hat of
R olten referred to as white light, A rainbow

@ natural spectrum appearing in the sky after
r;am shpwer, (’.I‘-:msidcr the following statements:
- Rainbow is caysed by dispersion of sunliéltl

by their water droplet and dust particles in

the atmosphere P
2. The rainbow is always formed in the direction
of sun,

3. Inrainbow red colours appears at the top and

violet at the bottom
Select the correct statements using codes given
below.
a) land2 -
b) 2and3
c) land3
~43¥73 only
The sun is visible to us about 2 minutes before
the actual sunrise ,and about 2 minutes after the
actual sunset because of
a) Scattering
b) Total internal reflection
¢) Atmospheric Diffraction
~d)-Atmospheric Refraction.
30. pH is an importance factor in everyday life.
Consider the following statements.
1 Dm'ingﬂﬁgwlimﬂ!aum&pmdme_s:qommh
of acids which may cause pain and imitation.
2. The human saliva is a generally a base.
3. Antacids are bases used to neutralize the
excess acid produces in stomach.
Select the correct ones.
a) land2
b) 2and3
\&r”All the above +
d) land3
Consider the following statement about the
reaction of metals with water.
1. Metals react with water and produces hydrogen.
2, Metal oxides are soluble in water and
produces metal hydroxides.
3. Metals such as lead, copper and gold do not
react with water at all. <~
Select the correct ones.
a) land2
b) Only2
¢) .1and3
~Zdj Al the above. »

32. The southern boundary of India extends upto:
a) 84'N °
BrB645°N
c) 37%'N
d) None of the above

29.

31.

33. Himalayas act as:
a) Climatic divide
b) Drainage divide
c) Cultural divide
\drAll of the above
4.) Which of the following are characteristic features
of mature stage of -fluvial erosional and
depositional landforms?
|. Bhabar
2. Sandbars.
3. Meanders
4, Oxbow lakes
Code:
a) All of the above

Wﬁ, 3 and 4 only

c) 1,3 and 4 only

d) 2and4 only = .
Which of the following is the largest tributary of
Indus?
a) Jhelum

henab
c) Ravi
d) Beas
36. lrz which of the following rivers is the Majuli River

[sland situated?

a) Ganga

b) Godavari *

c ahmaputra

d) Indus f
37. Which one of the following is the main reason
for the loss of the top soil in India?

Wind erosion
b) Excessive leaching *
¢) Water erosion
d) None of these
Sandalwood 1s an example of:
a) Evergreen forest .
b) Deltaic forest
c)-Deciduous forest |
d) Thorny forest
39, In which one of the following states is the

Nandadevi Bipsphere reserve situated?

a) PBihar

Uttaranchal
c) Uttar Pradesh
d) Orissa

sy

40. Which of the following is the highest cloud in the

sky?
-A\‘I/Eirrus
b) Nimbus

¢) Stratus .
d) Cumulus

[}
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the time take

a speeq
ed of the streg

ar it, Looking down on it isa
You can't feel the pulse of
People expect to, To Londoners
Struction between one place and
untarily linger there. The only locals
off the lingerers; the lingerers are
S, with a fair sprinkling of people
ntion to themselves - both typically
They have come to see the heart
ECt to see spectacle, glamour and

diSCOmfgn'mg exercise,
Il.o_ndﬂn here, though
itisa maddening ol
another, and few vol
are those who live
primarily sightseer.
hoping to draw arte
from the provinces.
of London and exp
vice,
93~ Piccadilly circus is
a) the name of a circus company .
b) a lonely and resounding old building
L) centrally located area in London «
d) a huge heap of ruins
The passage implies that
a) some Londoners love to spend their time near
the Piccadilly circus
AT no Londoner wants to be in Piccadilly circus
c) Piccadilly circus is a hazardous place
d) Piccadilly circus is place of vice
According to this passage, people from outside
London go to Piccadilly circus because it is
a) a historical place
—+b7 full of glamour #
¢) full of exciting people
d) the pulse of London

96.

97.

Passage-11
The object underlying the rules of natural justice "is to_
prevent miscarriage of justice" ans secure "fair play in
action” As pointed out earlier the requirement about
recording of reasons for its decision by an
administrative authority exercising quasi-judicial
functions achieves his object by excluding changes of
arbitrariness and ensuring a degree of fairness in the
process of decision making. Keeping in view the
€xpanding horizon of the p

which govern exercise of power by administrative
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of 13 knvhr in still
M s 4 kmyhr, find

downsh'cmn. R e il i1
a) 2 hours ]
b) 3 hours LS
G} hours -~ "‘1' S
d) 5 hours iy
_ Passape-
I’tccadllly Circus was full o!I;‘InLclincss It seethes and
echoes wit}, it. To live ne | .

rinciple of natural justice

authorities, The rules of natural justice are not gmbnd:;.:d
rules, The extent of their application depends "Pﬂﬂd ©
Particularly statutory framework where under
Jurisdication has been conferred on the adml.nlsl_rnl:::
authority, with regard to the excr{fllt ﬂf: Pﬂmc“iw
power by an administrative authori ty including f::clt"c“;
of judicial or quasi-judicial functions the Iegfs a uhi
while conferring the said power, may feel that it wcufl:'r
not be in the larger public interest th:a': the reasons b
the order passed by the :ld:'ninislrat|'ul'e'a.l.lj.lmﬂt:,'“'|

recorded in the order and be couununlc!wd o :
aggrieved party and it may dispense with such a

requirement, "
m e .:_g'_::l;m

98, "The rules of the natural justice are not e
rules" means that these rules \
a) are left deliberately vague
b) cannot be satisfactorily inlcrpretadl
“are flexible « jid
d) cannot be visual )
995 Fl)'om the passage itis clear that it is the legislature
at _
atrl; invests the administrative authority with
enormous powers ol 4
b) embodies rules ! AR
€) has the larger interests of publi¢ welfare
d)-Teaves administrative authority enough
discretion to interpret rules %

Pt
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Passage-I111 . 3

In the world today we make health and end in itself.
We have forgotten that health is really means to enable .
a person to do his work and do it well, a lot of modern |
medicine and this includes many patients as well as |
many physicians pays very little attention to health but |
very much attention to those who imagine that they
are ill. Our great concern with health is shown by the

- medical columns in newspapers. the health articles in
‘popular magazines and the popularity of television
] programmes and all those books on medicine, We talk

about health all the time. Yet for the most part the only
. resultis more people with imaginary illness, The healthy
- man should not be wasting time talking about health:
-~ he should be using health for work. The work does
the work that good health possible,

100. Modern medicine is primarily concerned with
a) promotion of good health
1+ b) people suffering from imaginary illness
~ ¢) people suffering from rea) illness
d) increased efficiency in work




